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https://www.youtube.com/watch?v=9Lli4MlTIfs&t=2s

Project Background

$9.1 Million | 2017 Bond

Proposition 2 — Drainage and
Flood Control Improvements

Project located in District 3

No ADA sidewalks or ramps

No curbs




Project Scope

New sidewalks, curbs,
driveway approaches

Full depth reconstruction
Underground drainage

Utility upgrades
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Esma Street with ponding on both'sides “&&
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Project Benefits
=  Pedestrian amenities

= Improved street condition

= Promotes pedestrian mobility " i3

= Improves drainage in
neighborhood

= Associated utility upgrades SRR R



Project Schedule

Construction
September 2019 - September 2020




Recommendation

Approval of a Construction Contract,
in the amount of $6,567,695.54 to E-Z
Bel Construction, LLC.
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